## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER

PROJECT NAME: HARTLAND COURT & EMPEY DRIVE SANITARY SEWER RECONSTRUCTION

PROJECT NO:

SS00-887

CONTRACTOR: HILLS MATERIALS COMPANY

ORIGINAL CONTRACT AMOUNT:

\$126,452.25

CHANGE ORDER NO.: 2

**DATE:** 1-Aug-01

| ITANG        | E ORDER NO.: 2                            |      |                               |            |                   |                             | DATE:                 | I-Aug                   |
|--------------|---|------|-------------------------------|------------|-------------------|-----------------------------|-----------------------|-------------------------|
| LINE<br>ITEM | DESCRIPTION                               | UNIT | PRIOR<br>CONTRACT<br>QUANTITY | UNIT PRICE | EXTENDED<br>PRICE | NEW<br>CONTRACT<br>QUANTITY | NEW CONTRACT<br>PRICE | INCREASE/<br>(DECREASE) |
| 1            | MOBILIZATION                              | LS   | 1                             | \$5,300.00 | \$5,300.00        |                             | \$0.00                |                         |
| 2            | CLEARING & GRUBBING, 18" + TREES          | EA   | 1                             | \$250.00   | \$250.00          |                             | \$0.00                |                         |
| 3            | 8" PVC SEWER MAIN (6'- 8')                | FT   | 33                            | \$16.00    | \$528.00          |                             | \$0.00                |                         |
| 4            | 8" PVC SEWER MAIN ( 8'-10')               | FT   | 207                           | \$17.00    | \$3,519.00        |                             | \$0.00                |                         |
| 5            | 10" PVC SEWER MAIN (8'-10')               | FT   | 155                           | \$45.00    | \$6,975.00        |                             | \$0.00                |                         |
| 6            | 12" PVC SEWER MAIN (10'-12')              | FT   | 5                             | \$200.00   | \$1,000.00        |                             | \$0.00                |                         |
| 7            | 18" PVC SEWER MAIN (6'-8')                | FT   | 346                           | \$28.00    | \$9,688.00        |                             | \$0.00                |                         |
| 8            | 18" PVC SEWER MAIN (8'-10')               | FT   | 321                           | \$30.00    | \$9,630.00        |                             | \$0.00                |                         |
| 9            | 18" PVC SEWER MAIN (10'-12')              | FT   | 83                            | \$32.00    | \$2,656.00        |                             | \$0.00                |                         |
| 10           | 4" PVC SERVICE LINE                       | FT   | 38                            | \$87.00    | \$3,306.00        |                             | \$0.00                |                         |
| 11           | DROP MANHOLE, 48"                         | EA   | 3                             | \$2,400.00 | \$7,200.00        |                             | \$0.00                |                         |
| 12           | DROP MANHOLE, 72"                         | EA   | 0                             | \$4,400,00 | \$0.00            |                             | \$0.00                |                         |
| 13           | EXTRA MANHOLE DEPTH, 48" DIA.             | V FT | 20.8                          | \$180.00   | \$3,744.00        |                             | \$0.00                |                         |
|              | EXTRA MANHOLE DEPTH, 72" DIA.             | V FT | 6                             | \$400.00   | \$2,400.00        |                             | \$0.00                |                         |
| 15           | STANDARD MANHOLE, 48" DIA.                | EA   | 4                             | \$1,550.00 | \$6,200.00        |                             | \$0.00                |                         |
| 16           | SPECIAL MANHOLE, 72" DIA.                 | EA   | 1                             | \$2,900.00 | \$2,900.00        |                             | \$0.00                |                         |
| 17           | ABANDON MANHOLE                           | EA   | 2                             | \$450.00   | \$900.00          |                             | \$0.00                |                         |
| 18           | REMOVE MANHOLE                            | EA   | 4                             | \$400.00   | \$1,600.00        |                             | \$0.00                |                         |
| 19           | REMOVE SEWER MAIN                         | FT   | 235                           | \$1.20     | \$282.00          |                             | \$0.00                |                         |
| 20           | RECONNECT SEWER SERVICE                   | EA   | 5                             | \$175.00   | \$875.00          |                             | \$0.00                |                         |
| 21           | RECONNECT SEWER MAIN                      | EA   | 5                             | \$180.00   | \$900.00          |                             | \$0.00                |                         |
| 22           | MUCK EXCAVATION (TRENCH)                  | CY   | 216                           | \$12.50    | \$2,700.00        |                             | \$0.00                |                         |
| 23           | CONTROLLED LOW STRENGTH BACKFILL MATERIAL | CY   | 18                            | \$65.00    | \$1,170.00        |                             | \$0.00                |                         |
| 24           | TYPE I BEDDING MATERIAL                   | Т    | 465.85                        | \$13.00    | \$6,056.05        |                             | \$0.00                |                         |
| 25           | TYPE II FOUNDATION MATERIAL               | T    | 24.01                         | \$17.00    | \$408.17          |                             | \$0.00                |                         |
| 26           | AASHTO T-180 SOIL TEST                    | EA   | 1                             | \$100.00   | \$100.00          |                             | \$0.00                |                         |
| 27           | TOPSOIL, STOCKPILE & REPLACE              | CY   | 185                           | \$9.00     | \$1,665.00        |                             | \$0.00                |                         |
| 28           | SAWING, ASPHALT PAVEMENT                  | FT   | 402.5                         | \$3.00     | \$1,207.50        |                             | \$0.00                |                         |
| 29           | SAWING, CONCRETE PAVEMENT                 | FT   | 420.66                        | \$2.40     | \$1,009.58        |                             | \$0.00                |                         |
| 30           | REMOVE & DISPOSE OF RUBBLE                | CY   | 0                             | \$9.50     | \$0.00            |                             | \$0.00                |                         |
| 31           | REMOVE ASPHALT CONCRETE PAVEMENT          | SY   | 526                           | \$2.75     | \$1,446.50        |                             | \$0.00                |                         |
|              | REMOVE CONCRETE APPROACH PAVEMENT         | SY   | 0                             | \$12.00    | \$0.00            |                             | \$0.00                |                         |
|              | REMOVE CONCRETE CURB AND GUTTER           | FT   | 157.66                        | \$1.40     | \$220.72          |                             | \$0.00                |                         |
| 34           | REMOVE CONCRETE PAVEMENT                  | SY   | 317.63                        | \$4.80     | \$1,524.62        |                             | \$0.00                |                         |
| 35           | REMOVE CONCRETE SIDEWALK                  | S FT | 80                            | \$0.70     | \$56.00           |                             | \$0.00                |                         |

## PW082901-04

| 36 | AGGREGATE BASE COURSE                  | Т    | 195.85 | \$22.00     | \$4,308.70   |    | \$0.00     |            |
|----|--|------|--------|-------------|--------------|----|------------|------------|
| 37 | SOIL SUPPORT FABRIC/GEOGRID            | SY   | 358.53 | \$2.60      | \$932.18     |    | \$0.00     |            |
| 38 | GRAVEL CUSHION                         | Т    | 97.93  | \$22.00     | \$2,154.46   |    | \$0.00     |            |
| 39 | AC PATCHING, CLASS G, TYPE 1           | Т    | 74.95  | \$46.00     | \$3,447.70   |    | \$0.00     |            |
| 40 | CONCRETE APPROACH PAVEMENT, 6"         | SY   | 0      | \$47.30     | \$0.00       |    | \$0.00     |            |
| 41 | PCC PAVEMENT, 9" NONREINFORCED         | SY   | 317.63 | \$46.15     | \$14,658.62  |    | \$0.00     |            |
| 42 | CONCRETE CURB & GUTTER                 | FT   | 157.66 | \$25.60     | \$4,036.10   |    | \$0.00     |            |
| 43 | CONCRETE FILLET & PAN (REINFORCED), 9" | SY   | 0      | \$53.30     | \$0.00       |    | \$0.00     |            |
| 44 | CONCRETE SIDEWALK, 4"                  | S FT | 80     | \$3.90      | \$312.00     |    | \$0.00     |            |
| 45 | AC PATCHING, CLASS G, TYPE 2           | Т    | 58     | \$60.00     | \$3,480.00   |    | \$0.00     |            |
| 46 | SEEDING, FERTILIZING, MULCHING         | SY   | 3250   | \$0.50      | \$1,625.00   |    | \$0.00     |            |
| 47 | TRAFFIC CONTROL                        | LS   | 1      | \$15,000.00 | \$15,000.00  |    | \$0.00     |            |
| 48 | INCIDENTAL WORK                        | LS   | 1      | \$2,500.00  | \$2,500.00   |    | \$0.00     |            |
| 49 | ASPHALT COMPACTION TESTS               | EA   | 2      | \$55.00     | \$110.00     |    | \$0.00     |            |
| 50 | CONCRETE TEST SET                      | EA   | 2      | \$105.00    | \$210.00     |    | \$0.00     |            |
|    |  |      | 0      | \$0.00      | \$0.00       |    | \$0.00     |            |
|    | CHANGE ORDER NO.: ONE (1)              |      | 0      | \$0.00      | \$0.00       |    | \$0.00     |            |
| 51 | EXTRA MANHOLE DEPTH, 60" DIA.          | V FT | 1.7    | \$300.00    | \$510.00     |    | \$0.00     |            |
| 52 | STANDARD MANHOLE, 60" DIA.             | EA   | 1      | \$3,000.00  | \$3,000.00   |    | \$0.00     |            |
| 53 | WATER MAIN ENCASEMENT                  | EA   | 1      | \$400.00    | \$400.00     |    | \$0.00     |            |
| 54 | DOWEL BAR ASSEMBLY                     | EA   | 2      | \$110.00    | \$220.00     |    | \$0.00     |            |
| 55 | ADDITIONAL TRAFFIC CONTROL             | LS   | 1      | \$600.00    | \$600.00     |    | \$0.00     |            |
|    | 0                                      | 0    | 0      | \$0.00      | \$0.00       |    | \$0.00     |            |
|    | CHANGE ORDER NO.: ONE (2)              | 0    | 0      | \$0.00      | \$0.00       |    | \$0.00     |            |
| 56 | Tie Into Existing MH. (Not Done)       | EA   | 0      | \$300.00    | \$0.00       | -1 | (\$300.00) | (\$300.00) |
|    | TOTAL                                  |      |        |             | \$144,921.91 |    | (\$300.00) | (\$300.00) |

## PW082901-04

| C.C.O. HISTORY INCREASE/(DECREASE)   |                     |                     | PRIOR ADJUSTED CONTRACT   | USTED CONTRACT PRICE : |              |
|--------------------------------------|---------------------|---------------------|---------------------------|------------------------|--------------|
|                                      | CCO #1              | \$18,469.66         | NET INCREASE/(DECREASE):  |                        | (\$300.00)   |
|                                      | CCO #2<br>CCO #3    |                     | ADJUSTED CONTRACT PRICE:  |                        | \$144,621.91 |
|                                      | PRIOR TOTAL =       | \$18,469.66         | CHANGE TO DATE:           |                        | \$18,169.66  |
| CONTRACTOR:                          |                     |                     |                           | DATE:                  |              |
| ENGINEER:                            |                     |                     |                           | DATE:                  |              |
| MAYOR:                               |                     |                     |                           | DATE:                  |              |
| FINANCE:                             |                     |                     |                           | DATE:                  |              |
| CONTRACT TIME CHANGE +/-: 0 NEW CONT | RACT TIME: All work | is completed, Final | Pay CO #2 being completed | l to close-out the     | e project.   |

## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER

PROJECT NAME: HARTLAND COURT & EMPEY DRIVE SANITARY SEWER RECONSTRUCTION PROJECT NO: SS00-887

CONTRACTOR: HILLS MATERIALS COMPANY ORIGINAL CONTRACT AMOUNT: \$126,452.25

CHANGE ORDER NO.: 2 DATE: 1-Aug-01

|      | SE ORDER NO 2                    | DATE. 1-Aug-01                                     |
|------|----------------------------------|--|
| ITEM | DESCRIPTION                      | REASON FOR CHANGE                                  |
| 56   | Tie Into Existing MH. (Not Done) | Add Contract Bid Item to reflect work not done.    |
|      | C. Li. D. M. IC. d               |  |
|      | Completion Date Modification     | Completion Date not modified as work is completed. |
|      |                                  |  |
|      |                                  |  |
|      |                                  |  |
|      |                                  |  |
|      |                                  |  |
|      |                                  |  |
|      |                                  |  |
|      |                                  |  |
|      |                                  |  |
|      |                                  |  |
|      |                                  |  |
|      |                                  |  |

PREPARED BY: DATE: